PRESENT SIMPLE: the third person singular

1) Complete with the verb BE.

I 1) IT 5)
YOU 2 WE ¢
HE 3 YOU 5
SHE 4 THEY s

He 1-(be)Homer Jay Simpson. He
3(be) 1,83 mtall. He a(be) from Springfield, USA. He s(be) Maggie,
Lisa and Bart’s father. He

2) Complete the following descriptions. Use the verb BE.

2(be) about 40 years old. He

e(be) married. His wife 7{(be) Marge. He
s-(be) the nuclear safety inspector at the Springfield Nuclear Power Plant.

3) Change the followingverbs into the third person singular. Add -8, -ES , IES.

WALK B FIX 7- LIKE 13
GO 2- JUMP 8- SING 14-
DANCE 3 WASH 9- COOK 15-
SPEAK 4 DO 10- HAVE 16-
STUDY 5- MARRY - WATCH 17-
ENJOY 6- LOVE 12- FINISH 18-

4) Look at the following descrption. Complete the gaps with the verbs in bracktes.

Lisa Simpson 1-(be) the middle child of the family. She 2(be) about 8

years old. She 3(live) in Springfield with her family. She 4(have) a pet. It

s{(be) a cat. Its name 6-(be) “Snowball”. She 7-(be) and excellent

student. She s-(be) intelligent and passionate about the planet. Lisa 9-(be)

vegetarian.

She 10(not play) video games, she 11-(read) books and science magazines. She

12-(watch) tv, her favourite show is “The Krusty the Clown show™. She

13-(not play) the violin,

but she 14(play) the saxophone. Lisa 15-(love) music. She 16-(enjoy) listening to
jazz music. She 17-(go) to Springfield Elementary School. She 18-(start) classes at 8
o’clock and she (finish) it at 4 p.m.
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